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1 |deEE 1.4E+3| 5.1E+2 1,910.0 1,910.0
2 | BEHRR 8.6E+0 8.6 8.6
3 | 5FER 1.9E+2 190.0 1.2E+3 1,218.0 1,408.0
4 [EWE 41E+0 41 a1
5 |MHE
6 [ILER
7 |EEBR
8 |ZWE 4.7E+1 47.0 1.2E+2 123.6 170.6
9 [HARE 2.0E+2| 3.8E+2 580.2 3.5E+4 35,000.0 35,580.2
10 [HEE 6.0E-1 0.6 0.6
11 |BEE 2.0E+1 20.0 5.4E+2 540.3 560.3
12 | FEE 40E-1| 8.5E+1 85.0 25E+1| 2.8E+1 52.6 137.6
13 |REE 8.0E-1 0.8 2.2E+0 2.2 3.0
14 |[#FIE 1.0E-1| 7.4E+1 74.2 74.2
15 |#FiRE 1.2E+1 12.0 46E+1| 1.8E+0 478 59.8
16 |[EWLE
17 |RBINE 1.0E-1 0.1 2.2E+1 22.0 221
18 |[fEHE 2 8E+3 2,800.4 1.9E+1 19.0 28194
19 |ILBE
20 |REHR
21 |[IFRIE
22 |EEE 1.7E+3| 3.5E+1 1,760.0 2.2E+4 22,009.0 23,769.0
23 |BHIE 4 3E+2 430.0 1.4E+3 1,400.0 1,830.0
24 |[ZEE 2.8E+3 2,800.0 20E+1| 29E+2 310.0 3,110.0
25 |HER 1.8E+1 18.0 2 7E+2 270.0 288.0
26 |[TRHEDAF 4 5E+0 45 6.8E+0 6.8 11.3
27 | KBRFF 6.0E+0 6.0 6.0
28 |EER 1.0E+0 1.0 42E+0| 1.2E+1 15.7 16.7
29 |&ZRER
30 [fAFLE
31 |EmE
32 |BiRE
33 |[EWLER 8.0E+0 8.0 1.0E+0 1.0 9.0
34 |ILER 2.2E+3 2,200.0 2,200.0
35 [wOg 1.2E+3 1,200.0 1.0E-1 0.1 1,2001
36 |EER
37 _|FBINER 4 1E+1 41.0 2.9E+3 2,900.0 29410
38 |EBER 4.1E+2 410.0 2.0E+1 20.0 430.0
39 |=BHER
40 [fEME 1.9E+4 19,000.0 19,000.0
41 |#EER
42 |RBE
43 |RERIE 4 8E+2| 3.0E+3 3,478.0 1.2E+3 1,228.0 4.706.0
44 | KHE 1.4E+1 14.0 14.0
45 |=igE 9.1E+1 91.0 91.0
16 |EREE
47 [;hiBe
& [F 6.0E+3| 1.0E+4 16,204.3 1.5E+3]| 8.5E+4 86,176.3 102.380.6
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